FTHRTERAFEEAFHELERTER HRER—E (FHBFIAEERS)

HRIE %%’ mws |22 mm | FEIZR | sans LREES
1 3 |=m £4 | 1B | 8K | 2 1 1
2 4 |hRAE®E— | %4 | 1B | 8K | 1 1 1
3 5 |T= #£4 | 18 |30k | 3 2 1, 2
4 6 |P= %% | 28 |3DK | 1 2 1
5 7 |T= %4 | 3% | 3DK | 1 2 2
6 9 |4H #£4 | 3% | 3DK | 2 1 1
7 13 |k #£4 | 1% | 3Dk | 1 1 1
8 14 |Fs# %£4 | 2% | 3Dk | 1 1 1
9 16 |fEETE £2 | 1B |sLDK| 2 8 6, 7
10 17  |f#eATE #a | 2B |2tDK| 2 14 12, 14
11 18 |#FETE %4 | 5B |2LDK| 1 3 3
12 21 |B/W #a | 4B |2LDK| 1 1 1
13 29 |mF £4 | 3% | 3DK | 1 1 1
14 | 57 |F2R F@ | — |2uDK| 1 2 1
15 58 |Ti&E Ryk | 28 |2LDK| 1 | 1
16 59 |T&R Ayk | 2B |8LDK| 1 2 1
17 | 64 |mwoema| %£4& | 2B | 30K | 1 | 1
18 67 |WBHFE | & | 4B | 30K | 1 2 2
19 68 |AMEFHE | £4 | 5B | 3DK | 2 1 1
20 78 |mAmE F# | — |sLDK| 3 2 1, 2




